WILDRIDGE ASSEMBLY INSTRUCTIONS

PURVEYORS OF QUALITY POLY FURNITUR HERITA E
Q € LCC-112

. UPRIGHT ADIRONDACK CHAIR
330-893-4212 « www.wildridge.com

Required Tools: - #2 Square Drive Bit

- Mallet/Non-Marring Hammer - Cordless Drill
(DO NOT Use Metal Headed -7/16"Wrench or Socket
Hammer)

(& v 2

Slide The Backrest

Up Against
\ ! The Stop

Step 1

Place the seat (A) on a level surface. Set the backrest (B) onto the
seat, making sure the back rest slides up against the stop on the
seat on both sides of the chair.

Hardware: Parts:

(4) 2 1/2" Screws A=(1)Seat = Fo o s s s s s s s S S S S TS S m s s
(8) 1/4"x2 1/2" Bolts B = (1) Backrest (& N
(8) 1/4" Flange Nuts C = (1) Right Facing Arm Assembly Note: The (2) 1/4”x2 1/2"

(2) 1/4"x 3" Lag Bolts D = (1) Left Facing Arm Assembly SR ¢ e Bolts g
(2) 1/4"Washers E = (1) Stretcher of thaaTmirash

(4) 2" Screws goes towards the
___________________________________ backrest.

(2) 1/4"x2 1/2"
Bolts

Use (2) 2 1/2” Screws

wildridge-©™

.

Step 3

Lay the backrest/seat on its left side. Place the right facing arm as-
sembly (C) onto the side as shown, line up the holes, and tap a
1/4"x2 1/2" bolt through each of the four holes, repeat on the
other side with the left facing arm assembly (D).

Step 2

Fasten the back onto the seat through the two pre-drilled holes
provided, using (2) 2 1/2" screws, repeat on the other side of the
chair.

______________________________________l________.I._____________________________________

© 2021



WILDRIDGE,

PURVEYORS OF QUALITY POLY FURNITURE

330-893-4212 « www.wildridge.com

ASSEMBLY INSTRUCTIONS

HERITAGE
UPRIGHT ADIRONDACK cHAIR | LCC-112

&

Step 4
On the underside of the chair, add a 1/4” flange nut to each of the
bolts, and tighten. Do this for both arm assemblies.

&

Step 6

Slide the stretcher (E) into the slots on the inside of the front legs.
Fasten from the outside, through the holes provided with

(4) 2" screws, two per leg.

Step 5

Place a 1/4” washer onto a 1/4"x 3" lag bolt and fasten the backrest
to the arm assembly through the hole provided, repeat with the
other arm assembly.

Your chair is now complete.... enjoy!

Thank you for purchasing from Wildridge.

© 2021



